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1.~ A point charge is at the center (0,0) of a conducting spherical shell with a radius of 40 cm. Another

point charge of 2uC is located at r =80 c¢m. If the net flux through the surface of the sphere is =360
Nm?/C, calculate the sign and value of the charge inside the sphere.
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2. Consider an infinitely large non-conducting flat sheet carrying a uniform charge density

0 =-10nC/m?and a long thin wire carrying a uniform charge density A =+5.0 nC/m arranged as

shown in the figure. Calculate the magnitude and direction of the net electric field due to these two
charge distributions at point.
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1. For the electric field E = (10 i + 20 y j) N/C, what is the electric flux through the top right (shaded) of
the cube shown in the figure?
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2. A solid non-conducting sphere, of radius 4.0 cm, has a uniform charge density. What is the ratio of
the magnitude of the electric field at a distance 2.0 cm from the center to the magnitude of the electric
field at a distance of 10 cm from the center of the sphere E(2)/E(10)?
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1. Three large non-conducting sheets of charge densities, o1 = —2 pC/m?, o2 = — 5 pC/m* and o3 = 10 uC/m?
are shown in the figure. What is the magnitude and direction of the net electric field at point A midway
between plate 1 and 2 and B 10 cm on the right of plate 37
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2. A conducting spherical shell with a net charge -20 pC has an outer radius 10 cm and an inner radius 8
cm. A point charge -10 pC is placed at the center of the shell. What are the surface charge densities

on the inner and outer surfaces of the shell?
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